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A 208,632,580 A6,959, 120 6,959,120 201,673,460
HMASIHT BANS ESHS 5,000,000 5,000,000 1994-08-26
HASH? HHKS 25HS 5,000,000 5,000,000 1996-05-28
HMASHT BANS 2SHR 2,000,000 2,000,000 1996-06-10
MASIHT HHRS BEMHP 223,090 223,090 1997-12-29
MASHT BANE 2SHP 7,200,000 7,200,000 1998-07-08
HASIHT BHTS 2SR 7,500,000 7,500,000 1998-08-11
B3
MASHT MANE 2SHP 4,137,940 A86,050 86,050 4,051,890 1998-08-12
MASHT HAKZ 2B 7,500,000 7,500,000 1998-08-20
MASIHT A2 2SHP 1,704,240 1,704,240 1998-08-27
HMASIHT A2 ESHR 4,700,000 4,700,000 1998-12-24
MASIHT A2 2SHP 7,000,000 7,000,000 1998-12-28
HMASIHT A2 2SHR 7,500,000 7,500,000 1998-12-30
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HASIHT BHN2 2BH2 7,500,000 7,500,000 1999-01-07

HASHD HHS 2SHS 4,500,000 2,600,000 2,600,000 1,900,000 1999-01-11

HASIHD M2 SSH2 4,650,000 4,650,000 1999-04-02

HASIHT BHANS 2SHR 7,430,000 7,430,000 1999-04-17

HASIHD BHIS 2SHL 7,500,000 7,500,000 1999-06-30

HASIHT HANS 2B 6,727,840 6,727,840 1999-07-10

HASIHD BH2 2SH2 10,000,000 10,000,000 1999-11-22

HASIHT BHMAS 252 5,376,660 A297,930 297,930 5,078,730 1999-11-23
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) HASIHD M2 2SH2 11,462,830 11,462,830 1999-11-24
HMASIHT BHN2 25H2 8,000,000 8,000,000 1999-11-25

HASIT HANS 25U 6,499,650 6,499,650 1999-11-27

HASIHT BHN2 LS 7,908,090 A 107,840 107,840 7,800,250 1999-12-02

HASIHT HANS 2BHR 10,000,000 10,000,000 1999-12-24

HASIHD M2 SSH2 8,000,000 8,000,000 1999-12-27

HASIHT HANS 2EHR 24,057,380 24,057,380 1999-12-30

HASIHD M2 2SHL 7,000,000 A3,867,300 3,867,300 3,132,700 2000-01-17
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MASIF A3 252

MASIHT HHIS 25U
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